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A
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H] : 200,0009%13]=
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H] 13,0009 %207 #4.3]=
(AR A_1F) a5 s34 k2] 610000
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3. EAH AL T2 ] 140 0 140| (A HHELTIRASNN] : 10,0008+713 422 140,000
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ey 9 ok =b SIS LI
1B m) 3,500 0 3,500 FHE7N R I TR 2 700,0008463 3,500,000
2. QA5 E 96,375 71,375 25,000
1.5-3}] 3 62,500 37,500| 25,000
A A 1= A& A A 3] 8F2= ) & 1) (2
1. 305-$odm 62,500 37.500| 25,000 (S BALFIEIVEA AEAAREA G (5 25,000,000
) 1 200,000 #1257 =
2. 8355 33,875 33,875 0
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e IR NESIEXC )
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4. B A EE 1,000 850 150
1.3 483 1,000 850 150
1. 0% H 1,000 850 150 | &8 79 © 150,000 13]= 150,000
5. 0728% 2,150 2,150 0
1L.AZAYEE | 2,150 2,150 0
1. %89 2,150 2,150 0
3. AT () EF 34,620 24,000 10,620
LA () A s 34,620 24,000 10,620
1Az gs 5,460 9,680 4,220
19 560 542 18|38 ZAFE]  -192,00090#13]= -192,000
ZAHa] 1 210,000 %13])= 210,000
2. 5G| 4,900 9,138  -4,238 iﬁii;;l;}?ﬂ@%%m : -2,486,000
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1. gogomt) 3 840 0 3 840 (A EA_1F) deA S5 3Am] 49 3840 000
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1.7]17A1 A 1 7 H] 31,624 0 31,624 (BT (35) 2524 AR (5 13,625,000
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=
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o AN I B2 2()
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E_ﬁ%&l#)&%#— AU ¢ 75,0009 %1 75,000
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1.aFgy 49 14,410 12,840 1,570
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1.8 083993 & 1,200 1,200 0
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2.3y 1,800 1,800 0
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